2010 ]

a 0 A=A(a,0) A
P=P(x, y)
A P Q AQ QP AP
AP 0Q OA
P D D
YA
A P AQ
AP
Q AQ=tAP .. 0t 2 ..
0 x
0t 2 QP AP
0Q OA
QP =|t-1| AP
QP AP |t-1] 1
0Q OA 0Q a
- Q20 .. alt-1] 0Q ..
Q=0 P x x =
2
OQ = OA +tAP = (a+t(x—a), ty)
0Q* ={a+t(x-a)} +(ty)’
={(x—a)*+y’}* +2a(x—a)t+a’
- a‘(t-1)° 0Q°
- a’(t-1)° {(x—-a)’+y*}*+2a(x—a)t+a’
- (X*+y*-2ax)t’+2axt 0 ..
t=0
t
- 0<t 2 t (x*+y®—2ax)t+2ax 0



- f(t)=(x*+y? —2ax)t + 2ax f) t 1

£(0) 0 f(2) 0

- 2ax 0 2(x*+y*—ax) 0

- x 0 X*+y*—ax 0 ..
D

P+A

0,0) (a,0)



